W] UNIVERSITETET | AGDER
EXAM

Course: BE 414 Financial Statement Analysis and Equity Valuation

Date: 25 November 2016

Time: 0900 - 1300

Number of pages: 5 + Appendix (16 pages)

Number of questions: 3

Exam aids: Calculator with empty memory (no communication)
Dictionary

General information: All questions are to be answered. You may answer the exam in

English or Norwegian.

Exercise 1 (30%)

The following are summaries from financial statements for the warehouse retailer, Home
Depot Inc. for fiscal year ending January 29, 2016:

Summary Reformulated Balance Sheet, January 29. 2016

(in millions of dollars)
2016 2015 2016 2015
Financial assets 757 456 Financial liabilities 4,085 2,159
Operating assets 43,725 38.564 Operating liabilities 13,488 12,703
Common equity 26,909  24.158
44,482 39,020 44,482 39,020

Summary Reformulated Income Statement, Year Ended. January 29. 2016
(in millions of dollars)

Sales 81,511
Core operating expenses 72.148
Core operating income 9,363
Taxes allocated to core operating income 3.474
Core operating income, after tax 5,889
Unsustainable operating income, after tax 182
Operating income, after tax 6.071
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Where relevant, make all calculations for 2016 with beginning-of-period balance sheet

numbers in the questions below.

(a) Calculate financial leverage

(b) Calculate the return on net operating assets (RNOA). Also calculate the core return on
net operating assets for the year.

© Show that Core RNOA = Core Profit Margin X Asset Turnover

(d) The firm has a net borrowing cost of 3.0% after tax. Calculate the return on common
equity (ROCE).

(e) Complete the income statement to report the after-tax net financial expenses and
comprehensive income.

® In an article in the Financial Times on September 9™ of this year, Mark Sellers, a
hedge fund manager in Chicago, argued that Home Depot should borrow $17 billion
to repurchase its stock. Suppose that core operating profitability and the net borrowing
cost were forecasted to be the same for 2017 as in 2016. What return on common
equity (ROCE) would you forecast for 2017 under the following conditions:

1. Home Depot did not make the stock repurchase

2. Home Depot made the stock repurchase on January 29, 2016
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Exercise 2 (20%)

The following is a comparative balance sheet for a firm for fiscal year 2012 (in millions of
dollars):

2012 2011 2012 2011
Operating cash 60 50 Accounts payable 1,200 1,040
Short-term investments 555 500 Accrued liabilities 390 450
(at market)
Accounts receivable 940 790 Long-term debt 1,840 1,970
Inventory 910 840
Property and plant 2.840 2.710 Common equity 1.870 1.430
5.300 4.890 5.300 4.890

The following is the statement of common shareholders’ equity for 2012 (in millions of
dollars):

Balance, end of fiscal year 2011 1,430
Share issues from exercised employee stock options 810
Repurchase of 24 million shares (720)
Cash dividend (180)
Tax benefit from exercise of employee stock options 12
Unrealized gain on investments 50
Net income 468
Balance, end of fiscal year 2012 1,870

The firm’s income tax rate is 35%. The firm reported $15 million in interest income and $98
million in interest expense for 2012.

Sales revenue is forecasted to grow at a 6% rate per year in the future, on a constant asset
turnover of 1.25. Operating profit margins of 14% are expected to be earned each year. The
cost of capital for operations is 9%

a. Forecast return on net operating assets (RNOA) for 2013.

b. Forecast residual operating income for 2013.

G. Value the shareholders’ equity at the end of the 2012 fiscal year using residual income
methods.

d. Forecast abnormal growth in operating income for 2014.

e Value the shareholders’ equity at the end of 2012 using abnormal earnings growth
methods.
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Exercise 3 (10%)

Reformulate the following income statement (in millions of dollars):

Sales 2,400
Operating expenses to generate sales (1,650)
Loss from real estate partnership (100)
Interest income 40
Interest expense (160)

530
Income tax expense 159
Net income 371

The firm’s statutory tax rate is 35%.
What is the effective tax rate on operating income from sales?
Exercise 4 (10%)

The following numbers were calculated from the financial statements of a firm for fiscal year
2015.

Net operating assets $107.5 million
Net financial obligations 22.7 million
Asset turnover, 2015 1.9
Core operating profit-margin, after tax 7.5%

The firm’s 52 million outstanding shares are trading at $4.75 each. You forecast that the core
profit margin and the asset turnover in the future will be the same as in 2015. You also
forecast that sales will grow at 4% per year in the future. Given your forecasts, what is your
expected rate of return from buying the firm at this price?
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Exercise 5 (30%)

Cisco Systems traded at $20 per share on December 3, 2011. Analysts are forecasting
earnings per share of 0.22 for 2012 and 0.39 for 2013. The firm does not pay dividends.

- Value Cisco on the assumption that abnormal earnings growth
forecasted for 2013 will continue at the same level into the future. Use
a cost of equity capital of 10%.

- Prove mathematically that abnormal earnings growth is equal to the

change in residual earnings.

b) Cisco Systems has hired a new assistant financial analyst. He needs you to

define the following concepts for him.

- Free cash flow to equity
- Value based management
- Red flag indicator

- Credit risk

- Earnings quality

c) The new analyst wants your opinion on the following statements. Are they
right or wrong? Explain your answer.

- Liberal accounting practices are rare in modern GAAP.
- Over time, one can typically expect a company’s RNOA to move towards
the industry average.
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CHAPTER 1

CHAPTER 2

Value of the firm = Valye of debt + Value of equity

Sharcholders’ equity = Assets — [ jabj] ities

Net income = Revenues — Expenses

Net revenue — Cost of £oods sold = Grogs margin

Gross margin — Operating expenses = Operating income
Operating income — Net Interest expense = | ncome before taxes

Income before taxes — Income taxes = Income after taxes
(and before extraordinary items)

Income before extraordinary itemg + Extraordinary items = Net income
Net income — Preferred dividends = Net income availgble to cominon

Cash from operations + Cash from investment + Cash from financin g
= Change in cash

Ending equity = Beginning equity + Tota) (comprehensive) income
—Net payout to shareholders

Comprehensive income = Net income + Other comprehensive income
Intrinsic premium = Intrinsic value of equity — Book value of equity
Market preminm = Market price of equity — Book value of equity

Value added for sharcholders = Ending valye — Beginning value + Dividend

Stock return, = P, — Pa+d,

Page 12

Page 36
Page 38
Page 39
Page 39
Page 39

Page 39
Page 39
Page 39

Page 40

Page 40
Page 41
Page 44
Page 44
Page 46
Page 46
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Market value of equity + Net debt
Sales

Unlevered price/sales =

Maiket value of equity + Net debt

Unlevered pricef/ebit = -
ebit

Market value of equity + Net debt
ebitda

Maket value of equity + Net debt

Book value of equity + Net debt

Unlevered price/ebitda =

Enterprise P/B =

Price per share

Trailing P/E =
Most recent annual EPS

% . " 1 ”
Rolling P/E = Price per share
Sum of EPS for most recent four quarters

Price per share

Forward or leading P/E =
Forecast of next years EPS

Dividend-adjusted B/ = Price per sharEeP; Annual DPS

Value of a bond = Present value of expected cash flows

gﬁ‘i-gfj—z‘f' CFy +C%+~-+—-—Cir
Pp Pn Pp Pp Pb

(ppis 1 + Required return for the bond)

D_
Vg

Value of a project = Present value of expected cash flows

g G OB R ey
I Pr Pp P

(pp is 1+ Hurdle rate for the proj ect)

Value of equity = Present value of expected dividends

V{,fzi{’—+d—22+—({31+d—:+
Pe Pz Pz Pr

(pzis 1 + Required return for the equity)

Page 90

Page 90

Page 112

Value of equity = Present value of expected dividends + Present value of expected

terminal price

7f§=ﬁ+(~?—+i§+~-+d—;+?—;
Pe P Pz Pe P

Page 112
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Perpetuity dividend model:

: 1,1 dz d3 dT | dT"I
;f§:L+-+_._+...+~+ — /pT Page 112
Pr P pl PE \pr -1 )

Dividend growth model:

yE GLz_,_ d3 dr ( dra

F=— T+ — 4 /pL Page 113
Pr p:  p} oz -¢ £
) o d,
Value of a perpetual dividend stream = 14 = ] Page 113
Pz -
Value of a dividend growing at a constant rate < e 4 Page 113

PE—g

Value of the firm = Present valye of expected free cash flows

G -1 Yy — - =Ly Cs—
G Rl | C22]2+C33]3+£~_L414+C35]5
Pr Pr Pr Pr Pr
(Pris 1+ Required return for the firm)

Page 115

Value of the equity = Present value of expected free cash flows minus value of net debt

VE = G-4 C2;12+C3f]3+...+c7;17 C\[
Pr PF p}:’ PF pp
If free cash flows after T are forecasted to be a (constant) perpetuity,

=¥ Page 116

CV, = Cry— Iy

Page 116
pr -1
If free cash flows are forecasted to grow at a constant rate after the horizon,
Cra =1
CVp = | =T 7 i1 Page 116
Pr—g
Cash flow from operations = Reported cash flow from operations
+ After-tax net interest payments Page 120
Cash investment in operations = Reported cash flow from investing
— Net investment in inter est-bearing
instruments Page 121
Earnings = Free cash flow — Net cash interest + Investment + Accruals
Eamings=(C-7)-7+ 7+ Accruals Page 126
s RE; | RE, RE
The value of common equity Fel=Byp——t s 200 B0 Page 145

P pz P}
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Residual earnings = Comprehensive earnings — (Required return for equity
X Beginning-of-period book value of equity)

RE; = Earn, = (PE = I)B,_l
Residual earnings = (ROCE — Required return on equity)
X Beginning-of-period book value of common equity
Earn, - (ps ~ 1)Bey = [ROCE, ~ (pr— 1)]B1t

Simple valuation model:

RE
VE = By + —— Page |
0 0 P— ge 151
Case 1 valuation. RE is forecasted to be zero after some point:
. RE; RE; RE RE
PE=By+—+ — 24t — Page 152
Pz PE PE PE

Case 2 valuation. No growth:

ngBo+—Ii—El+Rl§2+...+I{ET+ REr 4
Pz Pg P \pe -1

Case 3 valuation. Growth is forecasted to continue at a constant rate;

/pL Page 154

1’§=Bo+B~E—I+RE2+RE3+- By RET“W}T

s o + Page 154
P2 P PR oL \pz-g)
CHAPTER 6
5 L ARE, ARE; ARE
Value of equity =VOE =——|Eam, + S ey CENRR Page 180
pr-1 Pg Pg Pr ®
Normal forward P/E = ———1——— Page 183
Required return
2 . =
Kiiril Sl B o LT BEGuIvRd schiym) Page 184
Required return
Value of equity = Capitalized forward earnings
+ Extra value for abnormal cum-dividend earnings growth
V0E= Earn, " 1 AEG2+AEG3+AEG4 .
pe-1 Pz=1| P2 P P}
AEG, AEG, AEG,
:—1— Eam, + Z 7 34 5 L. Page 185
pr—1 Pr P P%
Abnm;mal earnings growth, (AEG,) = Cum-dividend earn, — Normal earn; Page 187

= [Earn, + (pg— 1)d1] — ppBarng

Page 147

i R
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Abnormal earnings growth, (AEG) =[G, - PE] X Earnings, , Page 187

Value of equity (cum-dividend) = Capitalized current earnings
+ Extra value for abnormal cum-dividend abnormaj
earnings growth

Pr AEG, AEG AEG,
E Pg Pk PE
PEG ratio = g Page 199
I-year-ahead percentage eamings growth
Value = Value based op what we know + Speculative value Page 213

Wei ghted-average expected return formula:

By By
ER:[PhO X ROCE1]+ [(1 = FO) X{g— l)} Page 214
Value = Value based op book value and near-term forecasts Page 218
+ Value of speculative growth
Vﬁ = By + 25 + .. + Value of speculative growth Page 218
p PP -1)
Barnings forecast, = (Book value,; X Required return) + Residual earnings, Page 219
1 AEG
vE= p—1/|EPS;+ p d * Value of speculative growth Page 221

Earnings forecast, = Normal earnings forecast, + AEG,
— Forecast of earnings from prior year’s dividends Page 222

Free cash flow = Net dividends to shareholders + Net Dbayments to debtholders and
issuers

C—I=d+F ' Page 238

Treasurer’s rule:

IfC-7-i>d Lend or buy down own debt Page 238
IfC-I-i<d Borrow or reduce lending

Free cash flow = Operating income — Change in net Operating assets
C—7=0I-ANOA Page 238
Free cash flow = Change in net financia] assets — Net financial income
+ Net dividends

C—]:ANFA—NFI+d Page 244
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Free cash flow = Net financial expenses — Change in net financial obligations
+ Net dividends
C—I=NFE-ANFO +d

Net dividends = Free cash flow + Net financial income
— Change in net financial assets

d=C—J+NFI— ANFA Page 245

Net dividends = Free cash flow — Net financial expenses
+ Change in net financial obligations

d=C-I-NFE + ANFO Page 245

Net operating assets (end) = Net operating assets (beginning)
+ Operating income — Free cash flow

NOA,=NOA.; + 0L~ (C,-1) Page 245
Change in net operating assets = Operating income — Free cash flow
ANOA, = 0L —(C,- 1) Page 245

Net financial assets (end) = Net financial assets (begin)
+ Net financial income + Free cash flow

— Net dividends
NEA, = NFA,; + NFI, + (C,~ [) - d, Page 245 g Ct
Change in net financial assets = Net financial income + Free cash flow §
— Net dividends
ANFA, =NFL + (C,—1) - d, Page 246

Net financial obligations (end) = Net financial obligations (begin)
+ Net financial expense — Free cash flow

+ Net dividends

NFO,=NFO,; + NFE,— (C, - 1)) + d; Page 246

Change in net financial obligations = Net financial expense — Free cash flow

+ Net dividends
ANFO; =NFE,— (C,~ ) + d, Page 246
Stocks and flows equation for common stockholders’ equity:
CSE, = CSE,; + Comprehensive earnings, — Net dividends, Page 246
CSE,;=NOA,-NFQ, Page 247
CHAPTER 9 )

Dividend payout = vty Page 266

Comprehensive income
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an i Dividend ses
Total payent tabio- nds + Stock repurchases

Page 266
Comprehensive income
Dividends-to-book value = e — Page 266
Book value of CSE + Dividends
Dividends + Stock repurchases Page 266

Total payout-to-book value = —
Book value of CSE + Dividends + Stock repurchases

. . Comprehensive income — Dividends
Retention ratio = ——
Comprehensive income

Page 267
= 1- Dividend payout ratio
. Net tr; i /it i
Net investment mte. = et tIE?DS?CfI.OﬂS with shareholders Page 267
Beginning book value of CSE
> in CSE
Growth rate of CSE = M
Beginning CSE Page 267
_ Comprehensive income + Net transactions with shareholders
Beginning CSE
Growth rate of CSE = ROCE + Net investment rate Page 267
Tax benefit of net debt = Net interest expense X Tax rate Page 305
After-tax net interest expense = Net interest expense X (1 — Tax rate) Page 305
Tax on operating income = Tax expense as reported
+ (Net interest expense X Tax rate) Page 306
Effective tax rate for operations = Page 307
Tax on operating income
Operating income before tax, equity income, and extraordinary and dirty-surplus items
Residual operating income = ReOl , =0L ~(p- DNOA,_, Page 312
, ' OI (after tax)
Operating profit margin (PM) = —— -1 14%X)
p gp gin (PM) Sales Page 318
OI (after tax) from sales
Sales PM = ( ) =
Sales . Page 318
; I (after tax) fr 1 item,
Oithias Steims Pl = OI (after tax) from other items |
Sales Page 318
4 i ; C rehensive inc
Net (comprehensive) income profit margin = el ;nlswe e Page 318
ales
; Expense ;
Expense ratio = -~ Page 318

Sales
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CHAPTER 11

CHAPTER 12

1 — Sales PM = Sum of expense ratios

Operating asset

Operating asset composition ratio = :
Total operating assets

Operating liability

Operating lability composition ratio = =
Total operating liabilities

Operating liabilities

Operating liability leverage (OLLEV) = -
) Net operating assets

Net operating assets

Capitalization ratio = — = NOA/CSE
Common stockholders’ equity
Fi ial erd ‘ati anci i i
inancia vle’vemge ratio _ Net financial obhganons_ — NFOJ/CSE
(FLEV) Common stockholders’ equity

Capitalization ratio — Financial leverage ratio = 1.0

; 0Ol,
Return on net operating assets (RNOA,) = :

/5 (NOA, +NOA,_)

) NFI,

Return on net financial assets (RNFA ) = 7
/> (NFA, +NFA,_;)

NEE,

Y, (NFO, + NFO, ;)

Net borrowing cost NBC, ) =

Free cash flow = Operating income — Change in net operating assets

C—1=0I-ANOA

Free cash flow = Net financial expense — Change in net financial obligations

+ Net dividends
C—I=NFE - ANFO +d

ROCE = bt X RNOA | — L) X NBC
CSE CSE

ROCE = RNOA + ol
CS

x (RNOA — NBC)}

= RNOA + (Financial Jeverage x Operating spread)
= RNOA + (FLEV x SPREAD)

ROCE = RNOA — | NFA
CSE

x (RNOA — RNFA)j‘

Page 318

Page319

Page 319

Page 319
Page 319

Page 319

Page 319

Page 318

Page 318

Page 319

Page 344

Page 344

Page 367

Page 366

Page 368
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Implicit interest on operating liabilities = Short-term borrdwing rate (after tax)

X Operating liabilities Page 369
Return on operating assets (RO0A) = OI + Implicit 1.nterest (Rer ) Page 369
Operating assets
Return on net opera ting assets = Return on operating assets + (Operating liability
leverage x Operating liability leverage spread)
RNOA = ROOA + (OLLEV x OLSPREAD)

Page 369
OLSPREAD = ROOA - Short-term borrowing rate (after tax) Page 369
.ROCE =ROCE before MI x M1 sharing ratio Page 372

ROCE before min ority interest (MI) = w{@ Page 372
CSE + MI

Minority interest _ Comprehensive income/Comprehensive income before MI

. A Page 372
sharing ratio CSE/(CSE + MI)
ROCE =(PM X ATO) + [FLEV x (RNOA -~ NB()] Page 373
PM = OI (after tax)/Sales Page 373
ATO = Sales/NOA Page 373
PM = Sales PM + Other items PM Page 376
Sales PM = Gross margin ratio — Expense ratios Page 376
1 Cash  Accounts receivable & Inventory 2 PPE
e iy —_— ey
ATO  Sales Sales Sales Sales
P Accounts payable _ Pension obligations o Page 377
Sales Sales
Accounts receivable turnover = Sale.s Page 377
Accounts receivable (net)
PPE turnover = e ; Page 377
Property, plant, and equipment (net)
Days in accounts receivable = - 3§5
- Accounts receivable turmnover
(sometimes called days sales outstanding) Page 377
The inventory turnover ratio is sometimes measured as:
Inventory turnover = CLSMM Page 377
Inventory
N 365 Page 377
Days in inventory =
e Inventory turnover
Days in accounts payable = M&ble Page 378

Purchases
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The net borrowing cost is a weighted average of the costs for the different sources of pet

financing:
NEC = kO . After-tax interest on financial obligations (FO)
NFO FO
FA Aﬁez-tax interest on financial assets (FA)
I\FO FA
( FA _ Unrealized gains on FA
(NFO FA
Preferred stock _ Preferred dividends
3 Page 380
NFO Preferred stock
CHAPTER 13
OI = Core OI from sales + Care other OI + UI Page 396
Return on net operating assets = Core RNOA
+ Unusual items to net operating assets Page 404 ' Cl
RNOA = Core O1 + Ul Page 404
NOA  NOA
= f‘_ s S -~ N T
RNOA = Core OI from sales " Core other OI 2 Ul Page 404
NOA NOA NOA
RNOA = (Core sales PM x ATO) e other O Ul
NOA NOA
where Core sales PM = ke AL e sl Page 406
Sales
Net borrowing cost = Core net borrowing cost + Unusual borrowing costs
NBC = Core net financial expenses 4 Unusual financial expenses Page 406
NFO NFO
Change in core sales  Change due to Change due to  Change due to |
Change in _  profit margin at i change in asset 4 change in other " change in
RNOA previous asset turnover core income unusual items
turnover level

ARNOA, = (ACore sales PM; x ATOp) + (AATO; x Core sales PM, )

& A Core other O 4 A Ul
NOA NOA Page 408
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Sales PM = Sales — Variable cost — Fixed costs

Sales

_ Contribution margin __ Fixed costs Page 409

Sales== - Sales ¢
Contribution margin ratia = 1— Variable costs _ Contribution margin Page 409

Sales Sales
OLEV = Contribution margin _ Contribution margin ratio
Operating income Profit margin
(Don’t confuse OLEV with OLLEV h Page 409
% Change in core O = OLEV x % Change in core sales Page 409
NOA = Sales x . Page 410
ATO
ACSE = A| Sales x L [ ANFO Page 411
ATO e

Residual operating income = Operating income — (Required return for operations
X Beginning net operating assets)

ReOl; =0l - (pr— 1)NOA,_; Page 439
Value of operations = Net operating assets
+ Present value of expected residual operating incomme
7
VBIOA _ NOAO + RCOL + RB?IQ . Re?h - RG?IT + C\TT
pr Pr Pr PF PF

Page 439

Value of common equity = Book value of common equity
+ Present value of expected residual operating income

VE = CSB, + ReOl, 4 R—ei)lz 5 Rc?h - ReCT)IT & C\T/T
Pr PF PF Pr Pr
Residual operating income = (RNOA ~ Required return for operations)
% Net operating assets )
ReOI, = [RNOA, — (pr— 1)]NOA, 4 Page 442

Abnormal operating income growth, (AOIG)

Page 440

= Cum-dividend operating income, — Normal operating income,

= [Operating income, + (pp— 1)FCF,_|] — pr operating income,_

=[Ol + (pr— 1)FCF,.;] - p£OI.;

=[G, - pr] X Ol Page 443
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Value of common equity = Capitalized (Forward operating income + Present
value of abnormal operating income growth)
— Net financial obligations

- {or1 STy SEHED o 0 O } — NFOy Pagedas
pr— Pr PF PF
Core ReOI, = Core OI, — (pr —1) NOA,—1 Page 445

Cost of capital for operations = Weighted-average cost of equity and cost of net debt

_ | Value of equity
Value of operations

)
X Equity cost of capitalj

Tl deb_t x Cost of debt capital
Value of operations 4
|
T -
pPr = V,’J\'OA “PE + V(‘)\‘OA *Pp Page 447 g
After-tax cost of net debt (pp) = Nominal cost of net debt x (1 —Tax rate) Page 447 ‘ C

Required return on equity = Required return for operations
+ (Market leverage X Required return spread)
VP
VE (pr —Pp) Page 449

P =pFr +

Earnings growth rate, = O growth rate,
+ [Barnings leverage,—; X (OI growth rate, — NFE growth rate,)]

gbm = g9 + BLEV,[g? — gIF] Page 458

ELEVY = oo L1 Page 458
Earnings

; Value of net operating assets
Unlevered P/B ratio = P g

Net operating assets
NOA
NOAg

Levered P/B ratio = Unlevered P/B ratio + [Financial leverage
X (Unlevered P/B ratio — 1)]

VE . NOA J/NOA
—0 -0 4 FEV L —-1
CSEO NOAO NO[\Q

Page 463

Page 464

. . Value of tions ypHoA .
Forward enterprise P/E ratio = o =L Page 465

Forward operating income © oL
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Appendix A Summary of Formulas 7219

- . 5 Value of rations + Free cash flow
Trailing enterprise P/E ratio = of oper =

Current operating income

_ V04 4 FCF,

Page 466
Ol
Forward levered P/E 1atio = —0— = 0" | B pv. ( [
‘orward levered P/Eratio=—2— =0, | -—— P
Earm;  Of Lo T NBG oS
' . < ; Earn O, NFQO,T OI . Page 466
kT ? / - 1 _ 1 0 I
Forward levered B/P ratio —TOE 750 Sk VE [ 70 NBCJ
7E
Trailing levered P/E ratio = B +d
Earmny Page 466
7NOA 7NOA 4 -
_ 7% + FCRy + ELEV, 194 + FCRy N .1 _1
Ol | Ol NBCy
The no-growth forecast of operating irncome:
OLi=0Iy + (p.— 1)ANOA, Page 484
The no-growth valuation of operations:
noa — _Oh Page 484
0 P 1
The growth forecast of operating income:
Ol =NOA; x Core RNOA, Page 484
Growth valuation:
Value of common equity:
y Y Core RNOA, - - DHINOA
VE = CSEq + [ o = (pr - DINOA, Pags 485
Pr -2
Value of operations:
VNOA _ NOA, + [Core RNOA( ~ (pr - DINOA,
Pr-g
Core RNOAg - (g - 1)
= NOAq x 0 (8 Page 486
Pr—-g
Unlevered price-to-book ratio:
J/NOA  Core RNOAg - (g-1
s AT o-(g-1) Page 486

NOAQ Pr-g
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CHAPTER 16

CHAPTER 18

Unlevered forward P/E ratio:

VONOA _ 1 { & Gy— PFJ
OI] pF_ 1 pF_ &g

Weighted-average growth rate for ReOI = (0.7 x Current growth in ReOT)
. + (0.3 x 4%)
A simple valuation with short-term and long-term growth rates:

yon = o, x — | 52~ Clong
PF =] PF - Glong

B0t = Salog i ( Pisis sakas P — Required retorn for operatlons]

ATO
+ Core other OI + Unusual items

Quality diagnostics:
Net sales/Cash from sales
Net sales/Net accounts receivable
Net sales/Allowance for sales returns and discounts
Net sales/Unearned revenue

Bad debt expense/Actual credit losses
Bad debt reserves/Accounts receivable (gross)
Bad debt expense/Sales

Normalized OI
0]
where

Normalized OI = Free cash flow + ANormalized NOA
= Free cash flow + ASales/Normal ATO

Adjusted ebitda
ebit

Depreciation

Capital expenditures

Cash flow from operations (CFO)

Operating income
CFO
Average NOA

Pension expense

Total operating expense

Page 486

Page 488

Page 488

Page 506

Page 603

Page 604

Page 605
Page 607

Page 607

Page 608

Page 608

Page 610

s

cl




(U8}

)5

07

07

08

108

510

Appendix

Other postemployment expenses

Total operating expense

Operating tax expense
O1 before taxes i

Warranty expense/Actual warranty claims
Warranty expense/Sales

R&D expense
Sales

Advertising expense
Sales

CHAPTER 19

Reverse engineering the expected return:

; By | By
Expected equity retumn =| —xROCE, |+|{1—— |X(g~1)
% )
Expected return for jons = | 29% . goa, [+][1- 2%
Xpected return 1or operations = Wx 117 —m
0 0

CHAPTER 20

s Curent assets
Current ratio = —————
Current liabilities

A Swmmary of Formulas 723

Cash + Short-term investments + Receivables

Quick (or acid test) ratio = ———
Current liabilities

Cagh + Short-term investments

Cash ratio = e
Current ligbilities

" Cash + Short-term investments + Receivables
Defensive interval = )

Capital expenditures

Cash flowto _ (Unlevered) cash flow from operations
_capital expenditures Capital expenditures

Total debt (current + long-term)

Debt to total assets =

Total assets (liabilities + total equity)

Total debt
Total equity

Debt to equity =

X 365

S

Page 610

Page 610

Page 611

Page 615

Page 615

Page 665

x(g-1)

Page 665

Page 685

Page 685

Page 685

Page 685

Page 685

Page 686

Page 686




724 Appendix A Summary of Formulas

Long-term debt
Long-term debt + Total equity

Long-term debt ratio =

Operating income

Interest coverage = (times interest eamed)

Net interest expense

Unlevered cash flow from operations

Interest coverage = (cash basis)

Net cash interest

Unlevered cash flow from operations .
Total debt

Cash available for debt service = Free cash flow — Net dividends
v = 0I — ANOA — Net dividends

CFO to debt =

Debt service requirement = Required interest and preferred dividend payments
+ Required net principal payments
+ Lease payments

Page 636 ]
Page6Rs
Page 686 v' E

Abn
Abm
Abn

Page 686

Page 693 Abn
a

at

Page 693
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